COUNCIL ACTION FORM

AGENDA ITEM: Discussion on Cameras at Waste Water Treatment Facility

HISTORY:

Astra Security has installed cameras at City Hall, the Library, and the Aquatic Center and we have been pleased with their service. Because they are already providing service to some departments, we asked them for an estimate to install a camera system at the (current) waste water treatment facility. The need for additional security has been talked about for some time, and with some recent events that have occurred at the WWTF location, we feel it is important to secure the site with cameras.

OPTIONS:

- 1. Approve the quote from Astra Security: Waste water treatment facility-\$5,824.95 (No recurring services)
- 2. Seek other bids
- 3. Do nothing at this time

STAFF'S RECOMMENDED ACTION:

Therefore, it is the recommendation of City Staff that Council approves Astra Security installing a camera system at the current waste water treatment facility.



1605 N. Ankeny Blvd. STE #230 Ankeny, IA 50023 Veteran Owned

Mailing Address

City of Nevada (Jordan Cook) PO Box 530 Nevada, IA 50201 (308) 672-5104

Astra Security Proposal

Prepared For: Nevada Waste Water Plant

Proposal #: 7710

Proposal Date: 07/18/2023 Security Advisor: Andrews, Alex Advisor Phone #: (515) 639-7379

Site Information

Nevada Waste Water Plant 457 S 6th St Nevada, IA 50201

Parts & Materials

Part Image	Description	Quantity	Rate	Amount
	(CAMERAS) 8 Port POE switch with 2 data ports	1.00	\$172.50	\$172.50
Timores .	(CAMERAS) Hardwired 5 MP H.265 NDAA compliant turret camera with 103 degree field of view 100 ft of night vision & audio recording	3.00	\$447.00	\$1,341.00
	(CAMERAS) Weatherproof round CBS junction box for camera mount	2.00	\$67.50	\$135.00
	(CAMERAS) Wall mount for turret cameras	1.00	\$67.50	\$67.50



1605 N. Ankeny Blvd. STE #230 Ankeny, IA 50023 Veteran Owned

Astra Security Proposal

Prepared For: Nevada Waste Water Plant

Proposal #: 7710

Proposal Date: 07/18/2023 Security Advisor: Andrews, Alex Advisor Phone #: (515) 639-7379

	(CAMERAS) 1/2" 10 foot EMT conduit	6.00	\$22.50	\$135.00
	(WIRE) Premium Residential and Commercial Low voltage wire - includes up to *50ft of wire and misc hangers, zip ties, labels, etc	12.00	\$42.50	\$510.00
a .a	(CAMERAS) 4" metal conduit box	2.00	\$4.50	\$9.00
	(CAMERAS) Cover for 4" metal conduit box	2.00	\$0.00	\$0.00
	(CAMERAS) Power Strip Surge Protector with 5ft Extension Cord, 3 USB Ports, and 4 Widely- Spaced Outlets	1.00	\$39.95	\$39.95



1605 N. Ankeny Blvd. STE #230 Ankeny, IA 50023 **Veteran Owned**

Astra Security Proposal

Prepared For: Nevada Waste Water Plant

Proposal #: 7710

Proposal Date: 07/18/2023 Security Advisor: Andrews, Alex Advisor Phone #: (515) 639-7379

Items

Description	Quantity	Rate	Amount
Professional Tech Labor	1.00	\$3,250.00	\$3,250.00
Travel time, misc service items, & fuel	3.00	\$55.00	\$165.00
Recurring Monthly Services			
	Description		Monthly Amount

Note

Modified Date Note User

Total Recurring Monthly Services \$0.00* Taxes Will Apply*

Total Proposal Parts + Items + Labor Investment \$5,824.95*Taxes Included*

To Accept This Proposal

To secure installation, and to accept this proposal from Astra Security we ask for 50% deposit. Once we receive payment, either credit/debit card, check, or e-check, we will order everything for your installation and start the process on our end. We're usually about 2 or 3 weeks out for installation, but often times we can and will move work around to get you protected as soon as we have everything prepped for your installation. Our office will call you to schedule with you once we're 100% ready!

Flex Pay: Ask about our in-house Flex Pay program to make up to 4 monthly payments on your new investment.

Warranty: Astra provides a 12 month labor warranty on our workmanship, and a 3 year parts warranty.

Mission: To achieve more than peace of mind with our clients, vendors, and staff.

Vision: Astra's vision is to be the most trusted and most reliable security company in all of Iowa. Astra specializes in 3 things (alarms, cameras, & access control). If something does not meet our standards we work quickly to change it. We guarantee your satisfaction every step of the way and strive to do right by our clients in all we do.

Values: Safety - Security - Reliability - Value - Kaizen "meaning continuous improvement"

Thank you for considering Astra Security for your security needs, we appreciate you! -Oliver Keeling, CEO & President

*36 Month Agreement Price

Recurring monthly service will commence on the first day of the month next succeeding the date hereof, & continuing monthly thereafter, all payments being due on the first of the month. Subscriber agrees to pay prorated, remainder of the current month plus one month, upon completion of installation. The prorated amount does not include the next month payment.

